

Article

Not peer-reviewed version

Correlation of Generalized Divisor Functions

[Huan Xiao](#) *

Posted Date: 17 March 2026

doi: 10.20944/preprints202603.1202.v1

Keywords: generalized divisor functions



Preprints.org is a free multidisciplinary platform providing preprint service that is dedicated to making early versions of research outputs permanently available and citable. Preprints posted at Preprints.org appear in Web of Science, Crossref, Google Scholar, Scilit, Europe PMC.

Copyright: This open access article is published under a [Creative Commons CC BY 4.0 license](#), which permit the free download, distribution, and reuse, provided that the author and preprint are cited in any reuse.

Disclaimer/Publisher's Note: The statements, opinions, and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions, or products referred to in the content.

Article

Correlation of Generalized Divisor Functions

Huan Xiao

School of Artificial Intelligence, Zhuhai City Polytechnic, Zhuhai, China; xiaogo66@outlook.com

Abstract

By using Abel's transformation we study the correlation of generalized divisor functions $d_k(n)$ and obtain the correct main term order of the asymptotic estimate for the correlations.

Keywords: generalized divisor functions

1. Introduction

1.1. Correlation of Divisor Functions

Let $d_k(n)$ denote the number of representations of n as the product of k natural numbers. For $k = 2$ it is the usual divisor function $d_2(n) = d(n)$ and for $k \geq 3$ it is the generalized divisor function $d_k(n)$ and we have $d_k(n) = \sum_{d|n} d_{k-1}(d)$.

Ingham began the study of correlation of divisor functions and in 1927 he [4] proved that for a positive integer h ,

$$\sum_{n \leq x} d(n)d(n+h) = \left(\frac{6}{\pi^2}\sigma_{-1}(h) + o(1)\right)x \log^2 x \tag{1.1}$$

as $x \rightarrow \infty$ where $\sigma_{-1}(h) = \sum_{d|h} d^{-1}$. For the generalized divisor function there is a conjecture as follows.

Conjecture 1.1. Let $h = (h_1, \dots, h_\ell)$ be a set of distinct nonnegative integers and $k = (k_1, \dots, k_\ell)$ a set of integers at least 2. Then as $x \rightarrow \infty$,

$$\sum_{n \leq x} d_{k_1}(n+h_1) \cdots d_{k_\ell}(n+h_\ell) = (C(h,k,\ell) + o(1))x(\log x)^{k_1+\cdots+k_\ell-\ell}$$

where $C(h,k,\ell)$ is a constant depending on h and k (and thus also on ℓ).

Estimates like

$$\sum_{n \leq x} (d_k(n))^\ell$$

where $k \geq 2, \ell \geq 1$ and

$$\sum_{n \leq x} d_k(n)d(n+h)$$

where $k \geq 3, h \geq 1$ are well known, see (Chapter II, [8]). However for the case where all $k_1, \dots, k_\ell \geq 3$ the Conjecture 1.1 is open. In 2001 Conrey and Gonek [3] formulated a conjectural asymptotic formula of the sum

$$\sum_{n \leq x} d_k(n)d_k(n+h),$$

and Tao [9] gave in his blog a conjectural asymptotic formula of the sum

$$\sum_{n \leq x} d_k(n)d_\ell(n+h).$$

For recent studies on Conjecture 1.1 see also Blomer [1], Browning [2], Ng and Thom [7], Matomäki et al [5] and Misra-Saha [6].

1.2. Main Results

In this note we prove the following results.

Theorem 1.2. *Let $h = (h_1, h_2)$ be a set of distinct nonnegative integers and let $k, \ell \geq 2$ be integers, then there is a nonzero constant c depending on k, ℓ, h such that as $x \rightarrow \infty$,*

$$\sum_{n \leq x} d_k(n + h_1) d_\ell(n + h_2) = (c + o(1)) x (\log x)^{k+\ell-2}.$$

Indeed we can prove by induction the following.

Theorem 1.3. *Let $h = (h_1, \dots, h_\ell)$ be a set of distinct nonnegative integers and $k = (k_1, \dots, k_\ell)$ a set of integers at least 2. Then as $x \rightarrow \infty$,*

$$\sum_{n \leq x} d_{k_1}(n + h_1) \cdots d_{k_\ell}(n + h_\ell) = (c_{h,k,\ell} + o(1)) x (\log x)^{k_1 + \cdots + k_\ell - \ell}$$

where $c_{h,k,\ell}$ is a constant depending on h, k and ℓ .

Thus we prove the correct order of the sum in Conjecture 1.1. We do not pursue here to determine the constants $c, c_{h,k,\ell}$, which were conjectured in explicit forms in [3,7,9].

As we shall see our method for proving Theorems 1.2 and 1.3 is the traditional Abel’s transformation.

Acknowledgements

The first draft of this paper was written during my stay at Nagoya University. Special thanks to the staff of the library of Department of Science of Nagoya University, who kindly allowed me to use this library.

2. Ingham’s Result Revisited

In this section we give a new and simpler proof of Ingham’s result (1.1) for $h = 1$.

Theorem 2.1 (Ingham). *As $x \rightarrow \infty$ one has*

$$\sum_{n \leq x} d(n) d(n + 1) = \left(\frac{6}{\pi^2} + o(1) \right) x \log^2 x. \tag{2.1}$$

Proof. First notice that for n not a perfect square we have

$$d(n) = 2 \sum_{\substack{d|n \\ d \leq \sqrt{n}}} 1. \tag{2.2}$$

Since $d(n)$ is multiplicative, n and $n + 1$ are coprime, we have

$$\sum_{n \leq x} d(n)d(n+1) = \sum_{n \leq x} d(n(n+1)) = 2 \sum_{n \leq x} \sum_{\substack{d|n(n+1) \\ d \leq \sqrt{n(n+1)}}} 1 \tag{2.3}$$

$$= 2 \sum_{d \leq \sqrt{x(x+1)}} \sum_{\substack{n \leq x \\ d|n(n+1)}} 1 \tag{2.4}$$

$$= 2 \sum_{d \leq \sqrt{x(x+1)}} \left(N(d) \frac{x}{d} + O(N(d)) \right) \tag{2.5}$$

$$= 2 \sum_{d \leq x} N(d) \frac{x}{d} + O \left(\sum_{d \leq x} N(d) \right) \tag{2.6}$$

$$= 2x \sum_{d \leq x} \frac{N(d)}{d} + O \left(\sum_{d \leq x} N(d) \right) \tag{2.7}$$

where $N(d)$ is the number of solutions of the congruence

$$n(n+1) \equiv 0 \pmod{d}, \quad 0 \leq n \leq d-1$$

that are incongruent modulo d . It is not difficult to see that

$$N(d) = 2^{\omega(d)}, \tag{2.8}$$

and thus

$$\sum_{n \leq x} d(n)d(n+1) = 2x \sum_{d \leq x} \frac{2^{\omega(d)}}{d} + O \left(\sum_{d \leq x} 2^{\omega(d)} \right). \tag{2.9}$$

We have

$$\sum_{d \leq x} 2^{\omega(d)} = \frac{6}{\pi^2} x \log x + O(x), \tag{2.10}$$

which is well known, see for example [8]. And by partial summation we have

$$\sum_{d \leq x} \frac{2^{\omega(d)}}{d} = \left(\frac{3}{\pi^2} + o(1) \right) \log^2 x. \tag{2.11}$$

Now combining (2.9), (2.10) and (2.11) we conclude

$$\sum_{n \leq x} d(n)d(n+1) = \left(\frac{6}{\pi^2} + o(1) \right) x \log^2 x.$$

□

3. Proof of Theorem 1.2

Let $k, \ell \geq 2$. It is well known that as $x \rightarrow \infty$,

$$\sum_{n \leq x} d_k(n) = \left(\frac{1}{(k-1)!} + o(1) \right) x (\log x)^{k-1}. \tag{3.1}$$

In the following by $c_1, c_2, \dots$ we mean positive constants. To prove Theorem 1.2 we shall use the following well known Abel’s transformation, also called summation by parts.

Lemma 3.1. Let x be positive integer and let a_n, b_n be sequences of numbers. We denote

$$B_x = \sum_{n=1}^x b_n. \quad (3.2)$$

Then

$$\sum_{n=1}^x a_n b_n = a_x B_x + \sum_{n=1}^{x-1} (a_n - a_{n+1}) B_n. \quad (3.3)$$

Lemma 3.2. We have

$$\begin{aligned} & \sum_{n \leq x} (d_k(n + h_1) - d_k(n + 1 + h_1)) \cdot (c_1 + o(1)) n (\log n)^{\ell-1} \\ &= (c_1 + o(1)) x (\log x)^{\ell-1} (d_k(1 + h_1) - d_k(x + 1 + h_1)) \\ &+ \sum_{n \leq x-1} (a'_n - a'_{n+1}) \cdot (d_k(1 + h_1) - d_k(n + 1 + h_1)). \end{aligned}$$

where $a'_n = (c_1 + o(1)) n (\log n)^{\ell-1}$.

Proof. We apply Lemma 3.1 for

$$a'_n = (c_1 + o(1)) n (\log n)^{\ell-1}, \quad b_n = d_k(n + h_1) - d_k(n + 1 + h_1).$$

We have

$$a'_n - a'_{n+1} = (c_1 + o(1)) (n (\log n)^{\ell-1} - (n+1) (\log(n+1))^{\ell-1}) \approx -(c_1 + o(1)) (\log(n+1))^{\ell-1} \quad (3.4)$$

and by (3.2),

$$B_x = d_k(1 + h_1) - d_k(x + 1 + h_1). \quad (3.5)$$

It follows from (3.3) that

$$\sum_{n \leq x} (d_k(n + h_1) - d_k(n + 1 + h_1)) \cdot (c_1 + o(1)) n (\log n)^{\ell-1} \quad (3.6)$$

$$= (c_1 + o(1)) x (\log x)^{\ell-1} (d_k(1 + h_1) - d_k(x + 1 + h_1)) \quad (3.7)$$

$$+ \sum_{n \leq x-1} (a'_n - a'_{n+1}) \cdot (d_k(1 + h_1) - d_k(n + 1 + h_1)). \quad (3.8)$$

□

Now we prove Theorem 1.2.

Proof of Theorem 1.2. We apply Lemma 3.1 for

$$a_n = d_k(n + h_1), \quad b_n = d_\ell(n + h_2),$$

and thus by (3.1) and (3.2) we have

$$B_x = \sum_{n \leq x} d_\ell(n + h_2) = (c_1 + o(1)) x (\log x)^{\ell-1}. \quad (3.9)$$

It follows from (3.3) that

$$\sum_{n \leq x} d_k(n + h_1) d_\ell(n + h_2) \quad (3.10)$$

$$= d_k(x + h_1) \cdot (c_1 + o(1)) x (\log x)^{\ell-1} \quad (3.11)$$

$$+ \sum_{n \leq x-1} (d_k(n + h_1) - d_k(n + 1 + h_1)) \cdot (c_1 + o(1)) n (\log n)^{\ell-1}. \quad (3.12)$$

For the latter summand we apply Lemma 3.2 and thus

$$\sum_{n \leq x} d_k(n + h_1) d_\ell(n + h_2) \quad (3.13)$$

$$= d_k(x + h_1) \cdot (c_1 + o(1)) x (\log x)^{\ell-1} \quad (3.14)$$

$$+ (c_1 + o(1)) (x - 1) (\log(x - 1))^{\ell-1} (d_k(1 + h_1) - d_k(x + h_1)) \quad (3.15)$$

$$+ \sum_{n \leq x-2} (a'_n - a'_{n+1}) \cdot (d_k(1 + h_1) - d_k(n + 1 + h_1)). \quad (3.16)$$

By (3.4) one has

$$a'_n - a'_{n+1} \approx -(c_1 + o(1)) (\log(n + 1))^{\ell-1}. \quad (3.17)$$

One may see from (3.13) that as $x \rightarrow \infty$ the leading main term of the sum $\sum_{n \leq x} d_k(n + h_1) d_\ell(n + h_2)$ comes from the contribution of

$$\sum_{n \leq x-2} (a'_n - a'_{n+1}) \cdot (-d_k(n + 1 + h_1)) \approx (c_1 + o(1)) \sum_{n \leq x-2} d_k(n + 1 + h_1) (\log(n + 1))^{\ell-1} \quad (3.18)$$

whose order is, by partial summation,

$$(c_2 + o(1)) x (\log x)^{k+\ell-2}. \quad (3.19)$$

The proof of Theorem 1.2 is complete. $\square$

Remark 3.3. We may see that the essential advantage of Abel's transformation (Lemma 3.1) is that it turns the main term of a correlation sum $\sum_{n \leq x} d_k(n + h_1) d_\ell(n + h_2)$ to the sum

$$\sum_{n \leq x-2} d_k(n + 1 + h_1) (\log(n + 1))^{\ell-1},$$

which is a disconnection sum of k -part and ℓ -part.

4. Proof of Theorem 1.3

Let $\ell \geq 1$. Recall that the Theorem 1.3 we need to prove is the following

$$\sum_{n \leq x} d_{k_1}(n + h_1) \cdots d_{k_\ell}(n + h_\ell) = (c_{h,k,\ell} + o(1)) x (\log x)^{k_1 + \cdots + k_\ell - \ell} \quad (4.1)$$

where $h = (h_1, \dots, h_\ell)$ is a set of distinct nonnegative integers and $k = (k_1, \dots, k_\ell)$ a set of integers at least 2. We prove (4.1) by induction on ℓ .

For $\ell = 1$ it is well known that as $x \rightarrow \infty$,

$$\sum_{n \leq x} d_{k_1}(n + h_1) = (c_{h_1,k_1} + o(1)) x (\log x)^{k_1-1}. \quad (4.2)$$

The case $\ell = 2$ is Theorem 1.2. Suppose (4.1) holds for $\ell - 1$, that is suppose

$$\sum_{n \leq x} d_{k_1}(n + h_1) \cdots d_{k_{\ell-1}}(n + h_{\ell-1}) = (c_{h,k,\ell-1} + o(1)) x (\log x)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)}. \quad (4.3)$$

We now apply Lemma 3.1 for

$$a_n = d_{k_\ell}(n + h_\ell), \quad b_n = d_{k_1}(n + h_1) \cdots d_{k_{\ell-1}}(n + h_{\ell-1}),$$

and thus by (3.2) and (4.3) we have

$$B_x = (c_{h,k,\ell-1} + o(1))x(\log x)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)}. \quad (4.4)$$

It follows from (3.3) that

$$\begin{aligned} & \sum_{n \leq x} d_{k_1}(n + h_1) \cdots d_{k_{\ell-1}}(n + h_{\ell-1}) d_{k_\ell}(n + h_\ell) \\ &= d_{k_\ell}(x + h_\ell) \cdot (c_{h,k,\ell-1} + o(1))x(\log x)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} \\ &+ \sum_{n \leq x-1} (d_{k_\ell}(n + h_\ell) - d_{k_\ell}(n + 1 + h_\ell)) \cdot (c_{h,k,\ell-1} + o(1))n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)}. \end{aligned} \quad (4.5)$$

For the latter summand as in Lemma 3.2 we have

Lemma 4.1.

$$\begin{aligned} & \sum_{n \leq x} (d_{k_\ell}(n + h_\ell) - d_{k_\ell}(n + 1 + h_\ell)) \cdot (c_{h,k,\ell-1} + o(1))n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} \\ &= (c_{h,k,\ell-1} + o(1))x(\log x)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} (d_{k_\ell}(1 + h_\ell) - d_{k_\ell}(x + 1 + h_\ell)) \\ &+ \sum_{n \leq x-1} (a''_n - a''_{n+1}) \cdot (d_{k_\ell}(1 + h_\ell) - d_{k_\ell}(n + 1 + h_\ell)). \end{aligned}$$

where $a''_n = (c_{h,k,\ell-1} + o(1))n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)}$.

Proof. We apply Lemma 3.1 for

$$a''_n = (c_{h,k,\ell-1} + o(1))n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)}, \quad b_n = d_{k_\ell}(n + h_\ell) - d_{k_\ell}(n + 1 + h_\ell).$$

We have

$$\begin{aligned} & a''_n - a''_{n+1} \\ &= (c_{h,k,\ell-1} + o(1)) \left(n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} - (n+1)(\log(n+1))^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} \right) \\ &\approx -(c_{h,k,\ell-1} + o(1))(\log(n+1))^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} \end{aligned} \quad (4.6)$$

and by (3.2),

$$B_x = d_{k_\ell}(1 + h_\ell) - d_{k_\ell}(x + 1 + h_\ell). \quad (4.7)$$

It follows from (3.3) that

$$\begin{aligned} & \sum_{n \leq x} (d_{k_\ell}(n + h_\ell) - d_{k_\ell}(n + 1 + h_\ell)) \cdot (c_{h,k,\ell-1} + o(1))n(\log n)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} \\ &= (c_{h,k,\ell-1} + o(1))x(\log x)^{k_1 + \cdots + k_{\ell-1} - (\ell-1)} (d_{k_\ell}(1 + h_\ell) - d_{k_\ell}(x + 1 + h_\ell)) \\ &+ \sum_{n \leq x-1} (a''_n - a''_{n+1}) \cdot (d_{k_\ell}(1 + h_\ell) - d_{k_\ell}(n + 1 + h_\ell)). \end{aligned}$$

□

Now by Lemma 4.1 and (4.5) we have

$$\begin{aligned} & \sum_{n \leq x} d_{k_1}(n+h_1) \cdots d_{k_{\ell-1}}(n+h_{\ell-1}) d_{k_\ell}(n+h_\ell) \\ &= d_{k_\ell}(x+h_\ell) \cdot (c_{h,k,\ell-1} + o(1)) x (\log x)^{k_1+\cdots+k_{\ell-1}-(\ell-1)} \\ &+ (c_{h,k,\ell-1} + o(1)) (x-1) (\log(x-1))^{k_1+\cdots+k_{\ell-1}-(\ell-1)} (d_{k_\ell}(1+h_\ell) - d_{k_\ell}(x+h_\ell)) \\ &+ \sum_{n \leq x-2} (a''_n - a''_{n+1}) \cdot (d_{k_\ell}(1+h_\ell) - d_{k_\ell}(n+1+h_\ell)). \end{aligned} \quad (4.8)$$

By (4.6) one has

$$a''_n - a''_{n+1} \approx -(c_{h,k,\ell-1} + o(1)) (\log(n+1))^{k_1+\cdots+k_{\ell-1}-(\ell-1)}. \quad (4.9)$$

One may see that as $x \rightarrow \infty$ the leading main term of the sum in (4.8) comes from the contribution of

$$\begin{aligned} & \sum_{n \leq x-2} (a''_n - a''_{n+1}) \cdot (-d_{k_\ell}(n+1+h_\ell)) \\ & \approx (c_{h,k,\ell-1} + o(1)) \sum_{n \leq x-2} d_{k_\ell}(n+1+h_\ell) (\log(n+1))^{k_1+\cdots+k_{\ell-1}-(\ell-1)} \end{aligned} \quad (4.10)$$

whose order is, by partial summation,

$$(c_{h,k,\ell} + o(1)) x (\log x)^{k_1+\cdots+k_\ell-\ell}. \quad (4.11)$$

The induction procedure is complete and thus the proof of (4.1) (Theorem 1.3) is complete.

References

1. V. Blomer, On triple correlations of divisor functions. Bull. Lond. Math. Soc. 49 (2017), no.1, 10-22.
2. T. Browning, The divisor problem for binary cubic forms. J. Théory. Nombres Bordeaux 23 (2011), no.3, 579-602.
3. J.B. Conrey and S.M. Gonek, High moments of the Riemann zeta-function, Duke Math. J. 107 (2001), 577-604.
4. A.E. Ingham, Some asymptotic formulae in the theory of numbers, J. London Math. Soc. 2 (1927), no.3, 202-208.
5. K. Matomäki, M. Radziwiłł, X. Shao, T. Tao and J. Teräväinen, Higher uniformity of arithmetic functions in short intervals II. Almost all intervals, arxiv:2411.05770.
6. B. Misra and B. Saha, Triple convolution sums of the generalised divisor functions, arXiv:2509.04610.
7. N. Ng and M. Thom, Bounds and conjectures for additive divisor sums, Funct. Approx. Comment. Math.60 (2019), no. 1, 97-142.
8. J. Sándor, D. S. Mitrinović and B. Crstici, Handbook of Number Theory I. Springer, 2006.
9. T. Tao, Heuristic computation of correlations of higher order divisor functions, blog.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.